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24.	 With reference to reforms of William 
Bentinck, consider the following statements:
1.	 In the military department, he abolished 

the system of double batta.
2.	 In the judicial department he abolished 

the provincial courts of appeal 
established by Cornwallis.

	 Which of the statements given above is/are 
not correct?
(a)	 1 only
(b)	 2 only
(c)	 Both 1 and 2
(d)	 Neither 1 nor 2

25.	 Which of the following were the 
recommendation of Cripps Mission?
1.	 The promise of Dominion Status to 

India.
2.	 Protection of minorities.
3.	 Setting up of a Constituent Assembly in 

which there would be representatives 
from the Princely States along with 
those of the British Provinces.

	 Select the correct answer using the code 
given below:
(a)	 1 and 2 only
(b)	 1 and 3 only
(c)	 3 only
(d)	 1, 2 and 3

26.	 Consider the following pairs:
Place 		  Revolutionary	

Organisation
1.	 Bengal	 —	 Jugantar
2.	 Maharashtra	 —	 Abhinava Bharat
3.	 Madras	 —	 Bharathmatha 

Association

	 Which of the pairs given above is/are 
correctly matched?
(a)	 1 only

(b)	 1 and 3 only
(c)	 2 and 3 only
(d)	 1, 2 and 3

27.	 Consider following statement:
1.	 The Satnami movement in Central 

India was founded by a leader named 
Ghasidas.

2.	 The Matua sect in eastern Bengal was 
founded by a leader named Haridas 
Thakur.

	 Which of the statements given above is/are 
correct?
(a)	 1 only
(b)	 2 only
(c)	 Both 1 and 2
(d)	 Neither 1 nor 2

28.	 Which of the following is considered as the 
Magna Carta of English Education in India?
(a)	 Lord Macaulay’s Minute
(b)	 Wood’s Despatch
(c)	 Hunter Education Commission
(d)	 Indian Universities Act, 1904

29.	 With reference to Indigo Revolt (1859-60), 
consider the following statements : 
1.	 The leadership was provided by more 

well-off ryots, some petty zamindars, 
money lenders and ex-employees of 
planters. 

2.	 Missionaries also extended active 
support to this struggle. 

3.	 British government’s response to the 
revolt was very harsh.

	 Which of the statement given above is/are 
correct? 
(a)	 1 only 
(b)	 1 and 2 only 
(c)	 2 and 3 only 
(d)	 1, 2 and 3


